

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 1, 2024

Progress Estimate Number	Contract ID	231215-H03	Pay Period Start	April 16, 2024	Original Contract Amount	\$2,388,855.24
5	Prime Contractor	Fronabarger Concreters, Inc.	Pay Period End	, ,		
· ·					Current Contract Amount	\$2,405,447.36

Approval Date		By User
May 1, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by	ellisc2
May 2, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	plottk1
May 3, 2024	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2024	November 1, 2024		23.40%

	Milestones		
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	January 3, 2024	January 3, 2024	
Letting Date	December 15, 2023	December 15, 2023	
Notice to Proceed Date	February 5, 2024	February 5, 2024	
Open to Traffic Date	February 5, 2024	February 5, 2024	
Work Began Date	March 14, 2024	March 14, 2024	

Contract Total Pa	ay For Estimate No. 5				
		This Estimate	Previous	To Date	
231215-H03					
	Total Posted Items Pay	\$359,968.75	\$203,004.00	\$562,972.75	
	Gross Item Adjustments	(\$24,028.62)	(\$24,028.62)	(\$48,057.24)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	•		\$178,975.38	\$514,915.51	
Contract Total Pa	ayable This Estimate:	\$335.940.13			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9S3841	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$125,000.000	0.1	\$12,500.00
	0030	2072000	LINEAR GRADING CLASS 2	STA	\$2,500.000	0.125	\$312.50
	0040	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$9.000	1,663.8	\$14,974.20
	0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$12.000	999	\$11,988.00
	0070	4010150	TYPE A2 SHOULDER	SQYD	\$51.970	280	\$14,551.60
	0100	4030306	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP250C MIX)	TONS	\$128.390	1,536.95	\$197,329.01
	0290	6181000	MOBILIZATION	LS	\$335,000.000	0.25	\$83,750.00
	0490	7261024	24 IN. PIPE GROUP A	LF	\$150.000	96	\$14,400.00
	0510	7320824A	24 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	EA	\$850.000	2	\$1,700.00
	0540	8061005	ROCK DITCH CHECK	LF	\$15.000	17	\$255.00
	5001	4071005	TACK COAT	GAL	\$2.880	89	\$256.32
	5002	2035500	EMBANKMENT IN PLACE	CUYD	\$23.320	341	\$7,952.12
Project J9S	3841 - Total						\$359,968.75
Overall - To	tal						\$359,968.75

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 3/23/2023 Page 1 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 1, 2024

Progress Estimate Number
5
Contract ID 231215-H03 Pay Period Start April 16, 2024 Original Contract Amount \$2,388,855.24
Prime Contractor Fronabarger Concreters, Inc. Pay Period End May 1, 2024 Net Change Order Amount Current Contract Amount \$16,592.12
\$2,405,447.36\$

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3841	0040	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material			-1,663.8	\$9.00	(\$14,974.20)
	0040	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user ellisc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	1,663.8	\$9.00	\$14,974.20
	0050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-4,492	\$12.00	(\$53,904.00)
	0050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user ellisc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.	4,492	\$12.00	\$53,904.00
	0070	TYPE A2 SHOULDER	Material			-280	\$51.97	(\$14,551.60)
	0070	TYPE A2 SHOULDER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user ellisc2 overridding Payment Estimate Exception 6 on the current Payment Estimate.	280	\$51.97	\$14,551.60
	0290	MOBILIZATION	Other Item Adjustment	Other	Mobilization adjustment in accordance to 618.2.2. Each partial payment will be 25 percent of the contract price for mobilization, after any deductions made in accordance with Sec 618.2.1, or 2.5 percent of the original contract price, whichever is less. Mobilization payment breakdown saved to eProjects.			(\$24,028.62)
	5001	TACK COAT	Material			-89	\$2.88	(\$256.32)
	5001	TACK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user ellisc2 overridding Payment Estimate Exception 7 on the current Payment Estimate.	89	\$2.88	\$256.32
	5002	EMBANKMENT IN PLACE	Material			-341	\$23.32	(\$7,952.12)
	5002	EMBANKMENT IN PLACE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user ellisc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	341	\$23.32	\$7,952.12
Total								(\$24,028.62)

Revision 3/23/2023 Page 2 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	on
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J9S3841	FAF 25-2(32)	Roundabout	25	CAPE GIRARDEAU	at Route K		
Totals by J	Job Numbe	ers					
J9S3841					This Estimate	Previous	To Date
		d Item Pay			\$359,968.75	\$203,004.00	\$562,972.75
	Gross	s Item Adjustn			(\$24,028.62)	(\$24,028.62)	(\$48,057.24)
			Gros	s Item Pay	\$335,940.13	\$178,975.38	\$514,915.51
	Incen	tive			\$0.00	\$0.00	\$0.00
	Disin	centive			\$0.00	\$0.00	\$0.00
		dated Damage			\$0.00	\$0.00	\$0.00
	Other	Contract Adj	ustments	3	\$0.00	\$0.00	\$0.00

Revision 3/23/2023 Page 3 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3841, Item 2035500, Project Item Line Number 5002, Material Set 203550096, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	ellisc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3841, Item 3040504, Project Item Line Number 0040, Material Set 304050496, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	ellisc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3841, Item 3040504, Project Item Line Number 0040, Material Set 304050496, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	No Remark was entered by Engineer	ellisc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3841, Item 3040506, Project Item Line Number 0050, Material Set 304050696, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	ellisc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3841, Item 3040506, Project Item Line Number 0050, Material Set 304050696, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	No Remark was entered by Engineer	ellisc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3841, Item 4010150, Project Item Line Number 0070, Material Set 401015096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	ellisc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3841, Item 4071005, Project Item Line Number 5001, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	ellisc2	Overridden

Revision 3/23/2023 Page 4 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted am	ount at the	time the	Estimate wa	as Gene	rated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
231215-H03	J9S3841	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS		\$125,000.00	\$25,000.00
		0001	0020	2063000	CLASS 3 EXCAVATION	81.00	0.00	81.00	CUYD	0.00	\$45.00	\$0.00
		0001	0030	2072000	LINEAR GRADING CLASS 2	26.30	0.00	26.30	STA	11.68	\$2,500.00	\$29,187.50
		0001	0040	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	2,664.00	0.00	2,664.00	SQYD	1,663.80	\$9.00	\$14,974.20
		0001	0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	9,465.00	0.00	9,465.00	SQYD	4,492.00	\$12.00	\$53,904.00
		0001	0060	3101003	GRAVEL (A)	426.00	0.00	426.00	SQYD	0.00	\$14.00	\$0.00
		0001	0070	4010150	TYPE A2 SHOULDER	1,922.00	0.00	1,922.00	SQYD	280.00	\$51.97	\$14,551.60
		0001	0080	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	548.00	0.00	548.00	TONS	0.00	\$186.30	\$0.00
		0001	0090	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	2,542.00	0.00	2,542.00	TONS	0.00	\$129.09	\$0.00
		0001	0100	4030306	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP250C MIX)	3,055.00	0.00	3,055.00	TONS	1,536.95	\$128.39	\$197,329.01
		0001	0110	5029905	MISC.CONCRETE PAVEMENT (10 IN. NON-REINF) (STAMPED	480.90	0.00	480.90	SQYD	0.00	\$165.00	\$0.00
		0001	0120	6044011	AND COLORED) PIPE COLLAR, TYPE A	3.00	0.00	3.00	EA	0.00	\$3,000.00	\$0.00
		0001	0130	6083003	3 IN. CONCRETE MEDIAN STRIP	47.70	0.00	47.70	SQYD	0.00	\$145.00	\$0.00
		0001	0140	6083006	6 IN. CONCRETE MEDIAN STRIP	825.90	0.00	825.90	SQYD	0.00	\$130.00	\$0.00
		0001	0150	6085007	PAVED APPROACH, 7 IN.	879.10	0.00	879.10	SQYD	0.00	\$130.00	\$0.00
		0001	0160	6091041	CONCRETE GUTTER TYPE A	45.00	0.00	45.00	LF	0.00	\$75.00	\$0.00
		0001	0170	6091052	CURB AND GUTTER TYPE B	464.00	0.00	464.00	LF	0.00	\$55.00	\$0.00
		0001	0180	6092021	INTEGRAL CURB (OVER 6 IN. HEIGHT) TYPE A	154.00	0.00	154.00	LF	0.00	\$25.00	\$0.00
		0001	0190	6092031	CONCRETE CURB LOW PROFILE TYPE E	281.20	0.00	281.20	LF	0.00	\$25.00	\$0.00
		0001	0200	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	45.00	0.00	45.00	CUYD	9.60	\$65.00	\$624.00
		0001	0210	6096042	PLACING TYPE 2 ROCK DITCH LINER	45.00	0.00	45.00	CUYD	9.60	\$65.00	\$624.00
		0001	0220	6113010	FURNISHING TYPE 1 ROCK BLANKET	12.00	0.00	12.00	CUYD	0.00	\$65.00	\$0.00
		0001	0230	6113030	PLACING TYPE 1 ROCK BLANKET	12.00	0.00	12.00	CUYD	0.00	\$65.00	\$0.00
		0001	0240	6161005	CONSTRUCTION SIGNS	571.00	0.00	571.00	SQFT	336.00	\$6.25	\$2,100.00
		0001	0250	6161025	CHANNELIZER (TRIM LINE)	114.00	0.00	114.00	EA	114.00	\$15.00	\$1,710.00
		0001	0260	6161030	TYPE III MOVEABLE BARRICADE	3.00	0.00	3.00	EA	0.00	\$125.00	\$0.00
		0001	0270	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	3.00	0.00	3.00	EA	3.00	\$3,500.00	\$10,500.00
		0001	0280	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$11,750.00	\$11,750.00
		0001	0290	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$335,000.00	\$167,500.00
		0001	0300	6191000	PAVEMENT EDGE TREATMENT	4,500.00	0.00	4,500.00	LF	0.00	\$4.00	\$0.00
		0001	0310	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	10.00	0.00	10.00	EA	0.00	\$300.00	\$0.00
		0001	0320	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	16.00	0.00	16.00	EA	0.00	\$100.00	\$0.00
		0001	0330	6200045	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LT/RT FISH HOOK ARROW	5.00	0.00	5.00	EA	0.00	\$1,700.00	\$0.00
		0001	0340	6200051	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT FISH HOOK ARROW	2.00	0.00	2.00	EA	0.00	\$1,700.00	\$0.00
		0001	0350	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	5,860.00	0.00	5,860.00	LF	0.00	\$2.00	\$0.00
		0001	0360	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	11,650.00	0.00	11,650.00	LF	0.00	\$1.75	\$0.00
		0001	0370	6205425	TEMPORARY NON-REMOVABLE MARKING TAPE 24 IN., WHITE	97.00	0.00	97.00	LF	0.00	\$10.00	\$0.00
		0001	0380	6205440A	TEMPORARY NON-REMOVABLE MARKING TAPE LEFT/RIGHT ARROW	7.00	0.00	7.00	EA	0.00	\$150.00	\$0.00
		0001	0390	6205443A	TEMPORARY NON-REMOVABLE MARKING TAPE COMBINATION STRAIGHT- LEFT/RIGHT ARROW	1.00	0.00	1.00	EA	0.00	\$250.00	\$0.00
		0001	0400	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	8,953.00	0.00	8,953.00	LF	0.00	\$0.50	\$0.00
		0001	0410	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	7,234.00	0.00	7,234.00	LF	0.00	\$0.50	\$0.00
		0001	0420	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	69.00	0.00	69.00	LF	0.00	\$5.00	\$0.00
		0001	0430	6207001	PAVEMENT MARKING REMOVAL	2,498.00	0.00	2,498.00	LF	0.00	\$2.00	\$0.00

Page 5 of 11 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

vote. Fosted Q	uariuucs	anu vaiu	es ale b	aseu on iv	eport Generaleu dale and can dilier ironi tile posted anii	ount at the	unie uie	Louinate wa	s Gener	alcu.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
231215-H03	J9S3841	0001	0440	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	7.00	0.00	7.00	EA	4.00	\$100.00	\$400.00
		0001	0450	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	10,357.00	0.00	10,357.00	LF	0.00	\$1.00	\$0.00
		0001	0460	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	9,464.00	0.00	9,464.00	SQYD	0.00	\$6.18	\$0.00
		0001	0470	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$25,000.00	\$0.00
		0001	0480	7261018	18 IN. PIPE GROUP A	4.00	0.00	4.00	LF	0.00	\$250.00	\$0.00
		0001	0490	7261024	24 IN. PIPE GROUP A	247.00	0.00	247.00	LF	112.00	\$150.00	\$16,800.00
		0001	0500	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$1,250.00	\$0.00
		0001	0510	7320824A	24 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	6.00	0.00	6.00	EA	3.00	\$850.00	\$2,550.00
		0001	0520	8025006	MULCHING	2.90	0.00	2.90	ACRE	0.00	\$2,500.00	\$0.00
		0001	0530	8051000A	SEEDING - COOL SEASON GRASSES	2.90	0.00	2.90	ACRE	0.00	\$3,500.00	\$0.00
		0001	0540	8061005	ROCK DITCH CHECK	150.00	0.00	150.00	LF	128.00	\$15.00	\$1,920.00
		0001	0550	8061016	SEDIMENT REMOVAL	182.00	0.00	182.00	CUYD	0.00	\$25.00	\$0.00
		0001	0560	8061019	SILT FENCE	3,170.00	0.00	3,170.00	LF	835.00	\$4.00	\$3,340.00
		0020	0570	9011030	LIGHTING POLE, 30 FT. OR 9.0 M, TYPE AT	12.00	0.00	12.00	EA	0.00	\$2,078.00	\$0.00
		0020	0580	9011115	BRACKET ARM, 15 FT. OR 4.6 M	12.00	0.00	12.00	EA	0.00	\$1,020.00	\$0.00
		0020	0590	9011311	LUMINAIRE, LED-A	12.00	0.00	12.00	EA	0.00	\$221.00	\$0.00
		0020	0600	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	1.00	0.00	1.00	EA	0.00	\$2,751.00	\$0.00
		0020	0610	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	65.00	0.00	65.00	LF	0.00	\$0.50	\$0.00
		0020	0620	9014003	CONDUIT, 3 IN. RIGID, PUSHED	182.00	0.00	182.00	LF	0.00	\$60.00	\$0.00
		0020	0625	9015010	TRENCHING TYPE I	1,300.00	0.00	1,300.00	LF	0.00	\$0.50	\$0.00
		0020	0630	9016110	PULL BOX, PREFORMED CLASS 1	5.00	0.00	5.00	EA	0.00	\$950.00	\$0.00
		0020	0640	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	1,220.00	0.00	1,220.00	LF	0.00	\$0.50	\$0.00
		0020	0650	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	1,550.00	0.00	1,550.00	LF	0.00	\$4.23	\$0.00
		0020	0660	9018230	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)	12.00	0.00	12.00	EA	0.00	\$778.00	\$0.00
		0020	0670	9018612	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE, LIGHTING ONLY	1.00	0.00	1.00	EA	0.00	\$2,751.00	\$0.00
		0040	0680	9031010	CONCRETE FOOTINGS, EMBEDDED	6.40	0.00	6.40	CUYD	0.00	\$2,200.00	\$0.00
		0040	0690	9031210	STRUCTURAL STEEL POSTS	920.00	0.00	920.00	LB	0.00	\$7.50	\$0.00
		0040	0700	9031220	PIPE POSTS	4,020.00	0.00	4,020.00	LB	0.00	\$8.00	\$0.00
		0040	0710	9035004A	SH-FLAT SHEET	83.00	0.00	83.00	SQFT	0.00	\$26.00	\$0.00
		0040	0720	9035069A	SHF-FLAT SHEET FLUORESCENT	332.00	0.00	332.00	SQFT	0.00	\$30.00	\$0.00
		0001	5001	4071005	TACK COAT	0.00	3,000.00	3,000.00	GAL	89.00	\$2.88	\$256.32
		0001	5002	2035500	EMBANKMENT IN PLACE	0.00	341.00	341.00	CUYD	341.00	\$23.32	\$7,952.12
	Project J	9S3841 - To	otal Value	Posted to D	Pate as of Report Generated Date							\$562,972.75
31215-H03 Ove	rall - Total	Value Pos	ted to Dat	te as of Repo	ort Generated Date							\$562,972.75

Page 6 of 11 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9S3841

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	5/1/24	5/1/24	0.10	LS	Rt 25 & Rt K Cape County					Removal of signs, CS Printing pavement/entrance, and pipe.
0030	2072000	LINEAR GRADING CLASS 2	4/20/24	4/22/24	0.12	STA	Rt K Cape County	4+00	Right of Center	4+25	Right of Center	25' = .25 stations / 2 = .125 stations on right side
0040	3040504	TYPE 5 AGGREGATE FOR BASE	4/25/24	4/29/24	144.40	SQYD	Rt K Cape County	12+27	Right of Center			30' X 43.3' / 9 = 144.4 Sq Yds Addendum 1 @ dry hydrant
			5/1/24	5/1/24	33.30	SQYD	Rt K Cape County	17+89	Right of Center			Keeler 10' X 30' average / 9 = 33.3 SY
				5/1/24	34.40	SQYD	Rt K Cape County	15+79	Right of Center			Lorberg West 10' X 31' average / 9 = 34.4 SY
				5/1/24	37.80	SQYD	Rt K Cape County	17+16	Right of Center			Lorberg East 10' X 34' average / 9 = 37.8 SY
				5/1/24	44.40	SQYD	Rt K Cape County	19+44	Right of Center			Clark 10 ' X 40' average / 9 = 44.4 SY
				5/1/24	55.70	SQYD	Rt K Cape County	10+22	Right of Center			Apartments 50.1' average X 10' / 9 = 55.7 SY
				5/1/24	178.70	SQYD	Rt K Cape County	8+46	Right of Center			Dollar General Entrance 30.3' X 53' average / 9 = 178.7 SY
				5/1/24	1,135.10	SQYD	Rt K Cape County	5+17	Right of Center			225' X 24' = 5400 SF 120.4' X 40' = 4815.9 SF 5400 + 4815.9 = 10215.9 SF / 9 = 1135.1 SY
0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	4/16/24	4/22/24	944.00	SQYD	Rt K Cape County	4+25	Right of Center	8+50	Right of Center	425' X 20' / 9 = 944
			4/20/24	4/22/24	55.00	SQYD	Rt K Cape County	4+00	Right of Center	4+25	Right of Center	25 ' X 20 ' / 9 = 55 SQ Yds
0070	4010150	TYPE A2 SHOULDER	4/24/24	4/26/24	280.00	SQYD	Rt K Cape County	16+60	Right of Center	20+20	Right of Center	360' X 7' / 9 = 280 Sq Yds
0100	4030306	ASPHALTIC CONCRETE MIXTURE PG 64-22 (SP2	4/22/24	4/25/24	460.74	TONS	Rt 25 & Rt K Cape County	109+27.49	Right of Center	18+20	Right of Center	
			4/23/24	4/25/24	570.68	TONS	Rt 25 & Rt K Cape County	109+27.49	Right of Center	20+20	Right of Center	Quantity passed upon daily production tickets.
			4/24/24	4/26/24	505.53	TONS	Rt 25 & Rt K Cape County	109+27.49	Right of Center	20+20	Right of Center	568.53 total tons used. 360' X 7' X 4" / 27 = 31 CY X 2.025 = 63 tons used for shoulders 568.53 - 63 = 505.53 tons
0290	6181000	MOBILIZATION	4/25/24	4/29/24	0.25	LS	Rt 25/ Rt K Cape County					Project is 18% complete.
0490	7261024	24 IN. PIPE GROUP A	4/18/24	4/22/24	96.00	LF	Rt K Cape County	4+70	Right of Center	5+78	Right of Center	CS Printing Entrance pipe
0510	7320824A	24 IN. GROUP C FLARED END SEC	4/18/24	4/22/24	2.00	EA	Rt K Cape County	4+70	Right of Center	5+78	Right of Center	CS Printing Entrance pipe
0540	8061005	ROCK DITCH CHECK	4/18/24	4/22/24	17.00	LF	Rt K Cape County		Right of Center			in front of pipe at CS Printing entrance
5001	4071005	TACK COAT	4/23/24	4/25/24	17.00	GAL	Rt K Cape County	5+00	Right of Center	9+00	Right of Center	Based on distributor reported usage 1000 gal - 983 gal = 17 gal @ 150 deg = 17 gallons
			4/24/24	4/26/24	72.00	GAL	Rt K Cape County	7+00	Right of Center	12+00	Right of Center	Based upon distributor readings 983 gal - 909 gal = 74 gal @ 150 deg = 72 gallons
5002	2035500	EMBANKMENT IN PLACE	4/18/24	4/22/24	341.00	CUYD	Rt K Cape County	4+70	Right of Center	5+78	Right of Center	36 loads hauled in today and 21 loads hauled in on Tuesday. 57 loads so far.

The information below this line are details for Construction Signs (if applicable).

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post	
J9S3841	0240	March 14, 2024	301	GO20-2 48x24 8.00 END ROAD WORK		0.611	Rt K EB	1.00	8.00			8.00	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		3.743	Rt 25 SB	1.00	16.00			16.00	
				GO20-2 48x24 8.00 END ROAD WORK		87.432	Rt 25 NB	1.00	8.00			8.0	
				WO3-3 48x48 16.00 SIGNAL AHEAD (SYMBOL)		86.879	Rt 25 NB	1.00	16.00			16.00	
				GO20-5aP 36x24 6.00 WORK ZONE (PLAQUE)		86.823	Rt 25 NB	1.00	6.00			6.00	
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		86.823	Rt 25 NB	1.00	16.00			16.00	
				WO13-1 30x30 6.25 ADVISORY SPEED (PLAQUE)		86.798	Rt 25 NB	1.00	6.25			6.2	
				WO3-5 48x48 16.00 SPEED LIMIT XX AHEAD (SYMBOL)		86.782	Rt 25 NB	1.00	16.00			16.0	
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		86.763	Rt 25 NB	1.00	16.00			16.0	
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		86.652	Rt 25 NB	1.00	16.00			16.0	
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		4.057	Rt 25 SB	1.00	16.00			16.0	
				WO3-5 48x48 16.00 SPEED LIMIT XX AHEAD (SYMBOL)		4.109	Rt 25 SB	1.00	16.00			16.0	
				GO20-5aP 36x24 6.00 WORK ZONE (PLAQUE)		4.142	Rt 25 SB	1.00	6.00			6.0	
				WO13-1 30x30 6.25 ADVISORY SPEED (PLAQUE)		4.142	Rt 25 SB	1.00	6.25			6.2	
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		4.188	Rt 25 SB	1.00	16.00			16.0	
				WO3-3 48x48 16.00 SIGNAL AHEAD (SYMBOL)		4.194	Rt 25 SB	1.00	16.00			16.0	
					GO20-2 48x24 8.00 END ROAD WORK		4.521	Rt 25 SB	1.00	8.00			8.0
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		5.948	Rt K WB	1.00	16.00			16.0	
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		6.050	Rt K WB	1.00	16.00			16.0	
				WO3-5 48x48 16.00 SPEED LIMIT XX AHEAD (SYMBOL)		6.087	Rt K WB	1.00	16.00			16.0	
				GO20-5aP 36x24 6.00 WORK ZONE (PLAQUE)		6.104	Rt K WB	1.00	6.00			6.0	
				WO13-1 30x30 6.25 ADVISORY SPEED (PLAQUE)		6.104	Rt K WB	1.00	6.25			6.2	
				WO20-7 48x48 16.00 FLAGGER (SYMBOL) WITH FLAGS		6.150	Rt K WB	1.00	16.00			16.0	

Revision 3/23/2023 Page 7 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details for Construction Signs (if published).

Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Post
J9S3841	0240	March 14, 2024	301	WO3-3 48x48 16.00 SIGNAL AHEAD (SYMBOL)		6.443	Rt K WB	1.00	16.00			16.00
		March 15, 2024	18	R10-6 24x36 6.00 STOP HERE ON RED (45 DEGREE ARROW		86.936	Rt 25 NB	1.00	6.00			6.00
				R10-6 24x36 6.00 STOP HERE ON RED (45 DEGREE ARROW		6.538	Rt K WB	1.00	6.00			6.00
				R10-6 24x36 6.00 STOP HERE ON RED (45 DEGREE ARROW		4.423	Rt 25 SB	1.00	6.00			6.00
		April 11, 2024	17	R2-1 36x48 12.00 SPEED LIMIT XX		4.109	Rt 25 SB	1.00	12.00			12.00
				WO13-1 30x30 6.25 ADVISORY SPEED (PLAQUE)		4.109	Rt 25 SB	-1.00	6.25			-6.2
				R2-1 36x48 12.00 SPEED LIMIT XX		86.782	Rt 25 NB	1.00	12.00			12.00
				R2-1 36x48 12.00 SPEED LIMIT XX		6.087	Rt K WB	1.00	12.00			12.00
				WO13-1 30x30 6.25 ADVISORY SPEED (PLAQUE)		86.782	Rt 25 NB	-1.00	6.25			-6.25
				WO13-1 30x30 6.25 ADVISORY SPEED (PLAQUE)		6.087	Rt K WB	-1.00	6.25			-6.2
	0240 - Total											330

Revision 3/23/2023 Page 8 of 11



Line Item Adjustments by Estimate

Contract ID: 231215-H03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3841	0040	TYPE 5 AGGREGATE FOR BASE	Material		5	May 1, 2024	SYSTEM	\$14,974.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ellisc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	May 1, 2024	SYSTEM	(\$14,974.20)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0040 -	- Total						\$0.00	
	0050	TYPE 5 AGGREGATE FOR BASE (6 IN.	Material		3	Apr 2, 2024	SYSTEM	\$12,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ellisc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
		THICK)			3	Apr 2, 2024	SYSTEM	(\$12,000.00)	
					4	Apr 16, 2024	SYSTEM	\$41,916.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ellisc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Apr 16, 2024	SYSTEM	(\$41,916.00)	
					5	May 1, 2024	SYSTEM	\$53,904.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ellisc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	May 1, 2024	SYSTEM	(\$53,904.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0050 -	Total						\$0.00	
	0070	TYPE A2 SHOULDER	Material		5	May 1, 2024	SYSTEM	\$14,551.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user ellisc2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					5	May 1, 2024	SYSTEM	(\$14,551.60)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0070 -	Total						\$0.00	
	0240	CONSTRUCTION SIGNS	Material		2	Mar 18, 2024	SYSTEM	\$1,993.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ellisc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Mar 18, 2024	SYSTEM	(\$1,993.75)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0240 -	Total						\$0.00	
	0250	CHANNELIZER (TRIM LINE)	Material		1	Mar 4, 2024	SYSTEM	\$225.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ellisc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Mar 4, 2024	SYSTEM	(\$225.00)	
					2	Mar 18, 2024	SYSTEM	\$1,710.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ellisc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	Mar 18, 2024	SYSTEM	(\$1,710.00)	
			- Total					\$0.00	
			Material - Total					\$0.00	
	0250 -							\$0.00	
	0270	CMS W/O COMMUNICATION INTERFACE, CONT F/	Material		1	Mar 4, 2024	SYSTEM	\$10,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ellisc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
						Man 4	SYSTEM	(\$10,500.00)	
		001117			1	Mar 4, 2024	STOTEW	(ψ10,300.00)	



Line Item Adjustments by Estimate

Contract ID: 231215-H03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9S3841	0270	CMS W/O	Material						Estimate Exception 3 on the current Payment Estimate.
		COMMUNICATION INTERFACE, CONT F/			2	Mar 18, 2024	SYSTEM	(\$10,500.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0270 -							\$0.00	
	0280	WORK ZONE TRAFFIC SIGNAL SYSTEM	Material		2	Mar 18, 2024	SYSTEM	\$11,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user ellisc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					2	Mar 18, 2024	SYSTEM	(\$11,750.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0280 -	Total						\$0.00	
	0290	MOBILIZATION	Other Item Adjustment	OTHR	4	Apr 16, 2024	ellisc2	(\$24,028.62)	Mobilization adjustment in accordance to 618.2.2. Each partial payment will be 25 percent of the contract price for mobilization, after any deductions made in accordance with Sec 618.2.1, or 2.5 percent of the original contract price, whichever is less. Mobilization payment breakdown saved to eProjects.
					5	May 1, 2024	ellisc2	(\$24,028.62)	Mobilization adjustment in accordance to 618.2.2. Each partial payment will be 25 percent of the contract price for mobilization, after any deductions made in accordance with Sec 618.2.1, or 2.5 percent of the original contract price, whichever is less. Mobilization payment breakdown saved to eProjects.
				OTHR - Tota	al			(\$48,057.24)	
			Other Item Adjustment - Total					(\$48,057.24)	
	0290 -							(\$48,057.24)	
	0540	ROCK DITCH CHECK	Material		3	Apr 2, 2024	SYSTEM	\$1,665.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ellisc2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Apr 2, 2024	SYSTEM	(\$1,665.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0540 -	Total						\$0.00	
	0560	SILT FENCE	Material		3	Apr 2, 2024	SYSTEM	\$3,340.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ellisc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					3	Apr 2, 2024	SYSTEM	(\$3,340.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0560 -	Total						\$0.00	
	5001	TACK COAT	Material		5	May 1, 2024	SYSTEM	\$256.32	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ellisc2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	May 1, 2024	SYSTEM	(\$256.32)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	5001 -	Total						\$0.00	
	5002	EMBANKMENT IN PLACE	Material		5	May 1, 2024	SYSTEM	\$7,952.12	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user ellisc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	May 1, 2024	SYSTEM	(\$7,952.12)	
				- Total				\$0.00	
			Material - To					\$0.00	
	5002 -	Total						\$0.00	
J9S3841 -	- Total							(\$48,057.24)	
Overall -								(\$48,057.24)	
						. ,			

MoDOT

Contract Adjustments for Contract - 231215-H03

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 11 of 11